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15. In the diagram below,CD is a diameter of @O and is perpendicular to 4B. Tf
AB=12 and CE = 2, what is the radius of @ O?
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CON
IGRUENT ANGLES Name two pairs of congruent angles.

12. w,
,@9
[
K

2% +bo=ifo
- bo ~0bO

ak=120

K= b0

Dec 7-1:00 PM

 MULTIPLE CHOICE 11 (he diagram, ZADCisa central

angle and mZADC = 60°. What is m2 ABCY B, A
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Z ABC= 30
| INSCRIBED ANGLES In each star below, all of the inseribed angles are
congruent. Find the measure of an inseribed angle for each star. Then

find the sum of all the inscribed angles for each star.
a. b. ” c.
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17. INSCRIBED ANGLES In each star below, all of the inscribed angles are
congruent. Find the measure of an inscribed angle for each star. Then
find the sum of all ihe inscribed angles for each star

u- b- c.

If the angles are congruent, then the arcs are
congruent. 360 degrees divided by the
number of arcs tells the measure of each
arc. The INSCRIBED angles are half that.
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If two chords intersect inside a circle, then the A
B

ys X:BO measure of each angle is one half the sum of the (N
X= 150 measures of the arcs intercepted by the angle
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Find the value of the variable.
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